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“(vil)) | (vily Some icons used in graphic design software are labellod as ® - .
iolie)
@ ® © o
Identify the correct name for cach tool from the list given below. Write down the ool name against
tabels @ - ®.
J List: {crop loaol, lasso tool, hand wol, brush 100l, clone stamp tool, magic wand tool, move tool)

A - Magic Wand Tool
B - Lasso Tool
C -~ Move Tool
D - Clone Stamp Tool

[0.5 marks for each correct answer => 0.5 marks*4,

(ix) i The tollowmg dagram shows the iteraction: hetween o user and o computer system  Idenyly
wrms for abels A B g O in ihe diagram Trom the following list, Write down
comesponding lerm
Last: [Hardware, Apphaation soltware. Operating system soliware, | iveware)
r —
/ " R .
(v {
(ome & P
A - Application Software
B - Operating System Software
C - Hardware
or 2 correct =>1 mark,
All 3 correct => 2 marks,
= 02 marks]
(x) IV Assume that & dice was throws (0 the 10 values oblaned arc stored in an array named A |
The followmg alponihm with messng L9 and W s used (0 calculate how many imes numher
S was ohtuned .

ount = ()

i
0 V Index of amay 0 1 23456789 |

whie i < @ a (DTSl TsTaTe]0) |

¢ =

{

ond while
display count
mic the comet terms for labels ®, @ and ® in the above algonthm
i
-1
\ [01 mark]
—i
[0.5 mark]
R —count
[0.5 mark]

Note: Correct spelling needed for variables

[02 marks]
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2. (l) (0 Consider following statements ! (@) regarding 1CT related secuniy ey
(1) A raiware program that rephcates iselt o spread 1o other computens
{nsohcried (unwantedt email recened mto the inbov ol an emanl woftw gre
3 Pretending 1o be . trusoworthy cosmmuniestion AEMPUNE 1O MR womenng ' i
of 4 hana awoount b
4 Diplas unwanted promogionzl matenal 0 the Torm s of papups 4 wehpgge
Identifs the matching wems from the st gnen nelow for cach b the atemeny 7
the statement number and the relevant term from the it
List: | Adwarc. Spam. Phishing. Bots. Computer worm, Frrewall |

4

1 - Computer Worm
2 > Spam

3 - Phishing

4 > Adware

(ii) (r The diagram shows how g person warks on s computer
Wrike two heal'h relaied 1ssocs that he may face due 10 the posture

T,
Any Two of the following :
e Muscular Skelton Syndrome/back pai rm pain/frozen shoulder
e Neck Pain
e Headache
e Computer Vision Syndrome(CVS)/Eye train/Ache/Irritation/Pain)
e Repetitive Strain/Stress | 1)
e Carpel Tunnel Syndrome( rist Pain
[1.5 marks * 2,
= 03 marks]
(ii.) iy Cons weaanos labdid 1 3

wping boensed woftware downloaded from Inernet and selling 1o others
" bogping into 2 social media account using a stolen user name and 4 password

Alfarmer in one countny uses agncuhural information on web, while o farmer in another country

unable 10 use such mformaton as he docs mot know how (o use computers and docs not have
aces o Intemet

Identify (he surtable lerms from the bt gren helow for cach of the shove scenanos and wnle down

\ the relevant tom zzamst the lavels 1 3

List: | Pray. Cyner cnme, Digaal divide, Privacy, Hectronie business |

1 - Piracy
2 - Cyber Crime
3 - Digital Divide
[1 marks * 3,
= 03 marks]
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3@ 3. (i) Consider the following figure which shows HTML. source file with missing tags and parameters labelled
©-© on the left and its output on the right.
HTML source
<'DOCTYPE himi>
<himb>
<body>

<4><@> Milk Ricc <@><h>

<® src="milkriccjpg" ali="Milk Rice">

<p align ='@" "@>Kiribath<@> is a traditional dish
which is fit for any auspicious moment. Kiribath also
known as milk ricc is normally scrved with “lunu _
"'_i:;"- a mixture of '°i°"‘°',“ "l" spices ”h:"" 35 | ~Kiribath is a wadiiona dish which is i fox
with bananas, jaggery & currics. IUs a must have for | 4y guspicious moment. Kiribath also known
<@>New Yearo@> ceichrations & a popular breakfast | o milk rice is normally scrved with *lunu

dish 100." <o mins®, a mixturc of red onions and spices as
0> well as with hananas, jaggery & curries. I's a
>3 Cups of Long grain ricc (short grain or whilc fice)<li> | must have New Year celchrtions & a populdr
d3 Cups of Coconut milk (thick)}</li> breakfast dish 100."
dixd @>1</@>>2Q> Cups of Water</li> + 3 Cups of Long grain rice (shorfgmain o
di> <@>3¢@>/<0>4</> Teaspoons of Salt <fli> white rice)
0> * 3 Cups of Coconut milk (thick)
<fbody> 4 % Cups of Water )
<html> * X Teaspoons of Sall

Select the comect g or parameter from the following list for labels nimbered @-in the HTML source
code above and write them down againdt cach number.

Mﬂ bn hn em, i!& jM’l i! d) ‘! W- mb' p' fr, ld‘ w‘ u, IIII
1 - center,2 - img, 3 - Justify,4->i,5->b, 6> d|,7 - sup, 8 > sub

& ---—meeee——1 mark each $.£0.5 mark each->

[tags 1 to 6,1 markeach,
tag, 7 & 8,=> 0.5 mark each

=>1*6+ 0.5 *2,
= 07 marks]

(ii) (ii) Detcrmine‘whether the following staiements are TRUE or PALSE.

@ Nimber of pixels can be reduced by removing unnecessary sections in edge of images using
Crop/Trim 1ol in graphics soltware.

@ Size of video files can be reduced by making the frame size smaller and reducing the resolution
of image in a fame.

@ The size of andio files can be compressed by decreasing the sampling ralc.

Wﬂmmwﬁm-@ﬂmmwdﬁvewwnUEorFAlSE.

5 true/T
2 > true/T
3 > true/T
[1 marks * 3]
=03 marks)
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=C9-B9 and = B9)/B9*100
OR
9 and =D9/89%*100
OR
%:9—89) and =((C9-89)/B9)*100
=(C9-B9) and =(D9/B9)*100 ****Note: if 4(ii) answer is
=(D4/B4)*100

Dep'""‘e"( Of Exammatlons - e A"??nded
4(i) Themmu.mwmm mm(k()dmmminugmﬁ
0i4. A g Lt 1o e |
1—‘ D, Enivsion (it) of o Asion covatries
1| Caguy b n 004 | Cerence | Peresmge
.<
T —
il
7 i
e —
9 sl Lmin
0 L i
11 " O, Bt 0
(source: World Development Indicatars)
ﬁ)WnlcmutfamdluuMdbcwnm in ccll D4 o find the diffcrence of CO, emission
between years 2014 and 1972 in Bangladesh.
| Difference = Value of year 2014 - Value of year 1972 |

=C4-B4
OR
=(C4-B4)

[correct answe
(ii) (ii) Write down the formula (hat should be writien in cell B4 1o
emission from 1972 1o 2014 for Bangladesh.
Ihwlmﬂbiﬂmdyulm)
=(C4 - B4)/B4*100

OR \
=((C4 - BA4)/B4)*100

OR
=D4/B4*100 Q

OR

=(D4/84)*100
**Note: Exact answer requl o marks awarded for incorrect/incomplete excel

formula syntax

02 Marks)
increase of T[]

**Note: No partial mar!
[02 Marks]
(iii) (iil) Assf > formas entered © cells D4 and E4 arc copied to the cell range DS:EI0.

g spoctively the two formulac displayed in cell D9 and E9 that are rclaled (o Sni Lanka.

respectively in D9 and E9 cells
**Note: No partial marks
[1.5 marks each for correct formula=>1.5 marks*2,

=3 marks]

e
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H8,08 880 aem yread ef.
2027 8 a8 ¢ e BEQS wew Higod ob.
[.....] cRa 28 oem goe O 9o eosd8=0d

i ion.
If any ambiguity occurs in the instructions, please efer the English versio

e ———

T T 0 (o) 1101101100, 0m 000 edm quie eximsn 800 cBbamo ek, 800

Buts fn caietn
mm_mm@u-&umm-ﬂﬁ"
8o calwien.
t
(a) | &

110 111 001 100 (83 3 38+ obx w0 A8)

oTN (o3¢ mgwe Do 3aa) Q®

(80168 BEQd vem cne 0.5,
Bwbd wew cneg (.5,

= e 1)

(8068 BEnd uem e 0.5,
8ubd wew cpy@ 0.5

=cae@0l]

a 0111 0101 0010

2 58

2 @y 11101010010, (o3¢ oewnd Ba o)
[$0:5% 8826 vemn e 0.5,
8106 wew e 0.5
=cng 0l
|
BeZE 10 2080 w6t 1874 cas mMmu@OZ 3620 0688 |
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JO’H ocamledrigd

@Tr (v) qums ocud el an orel ocmul Soll eSO s sond mcfmd ol 008 W smmed
og % aguiDie o0u ven 8 eudl. sDegy amen S8l 4t got» arf 8 enbs

(barcode) emcigetil gyl smmdcgd, o080 giOslegy (xm) crell O Oul elinded gisst ¢ (08O

qrp0 oy ored. oDiks S o eSoband B¥re oo Sux) «BeslC Rt B0 e noy

Crefl. eulcp emecEd som Bom s wip cred

=e emdgdy 8@ gm. G0 we phan ecm 08 g Sl S cxibuin.

L R ot 2 R
T g - 40, o, 08 O 0800 eeea ( 3, 24 BDGEB)

808w - 46 el verw OAS(gbOmOnW) / BOEBHE, q85®
880,0/03znm® namne B30, Boc® ¢8200¢ ¢ 88H;0/00mm® 05w
B30
glome - o
[pove -cng 0.5,
B8 - cneg 01,
glona - @S
= cRE 2]

Input - bar code, quantity (3, 2 acceptable)
Process - interpreting/converting/using bar code, calculate tost of items, calculate
total cost of all items
Output -bill | ?n'nh'm) e bill
[Input 0.5 marks,
Process 1 mark,
Output 0.5 marks
= 02 marks)

(v) ) ”ma‘“”“-.—.”ﬁm
1L T 1
] ® © ® &

oy womed gt G0 g0c emetdiect sdioo Boo ok

® u”mmw”m*m-&-av
(®) *Mm--nmqmm-aqu*“

o wg wb ¢t ; )

(a —>E

(b) —»D
[em B0 S%, BEnoxd oemn el => 172,

= cng 02)

[1 mark each for correct answer => 12

= 02 marks]
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g g b=

. Cous ed8ved
.‘.,.G'I-'tb

- ooBel/HN6EE/ [/ 4.5
2- ooseB/IAOGRBIT / g
3. eoseB/B0GRET / &
4- quoneB/O6RBF 4 pus .

cng 0.5%4,
= cneg02]
1-True/T /covrec}
2-True/T / covvec)
3-True/T [ covvect 9
4-False/F [ woorect yncovrect
(0.5* 4Marks;
=02 marks]

(vill) ('“)-éw‘“ﬁOM**MWM)WmCG&-(MI

T RTeE

@ ® ¢ o
ou ¢ulty v e8000 mud Crlidigetnl AR #8000 wella Bgmen: & @ 80 B seai )
ociic oiSed! & ultuim

@00 b gieiep : [A0ud $000 (up) e8LH. C:ou! (1aa00) 080CH. 7 (hand) #8OCH. Ao
(bresh) o8008 slociic f; (clome samp) #8000, 8180 oWD (magic »and)
#8008 tew (BoT) o8|

A - 98t 0¥ 080

B - creed 0908
C-0¢» e®e®

D - SeciBe 8 e20c®

[08 80,68 BEnod wem cme 0.5=>0.5%4,

= Ccnea (2]
A - Magic Wand Tool
B - Lasso Tool i
C - Move Tool i S
3 st A ,Q;LD[

D - Clone StampTool

[0.5 marks for each correct answer => 0.5%4, |

= 02 marks] |
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3§ co» Dewr scumlelrinl

otoliod eud qved 'r-'aiﬁrﬂﬁ'r“
(--;_omabqﬂeﬂa--#".‘ i

o o ®, o-ommu-—t
(appfication software). ebewpl ofuB Gxmre

:(MD-
COVE o G ECB)

A - D30mBn/ewng® Sigmreo
B - oPenyg® {05 Dagmro

C i ":-"i?
(886 om ond ogm AN 20 - CRG L

BEac an® AN »O CrRE 02
8g cngs 02]

(ix)

A - Application Software
B - Operating System Software

C - Hardware
[1 or2 correct => 1 mark,
A,B, 5““‘“\“ be All 3 correct => 2 marks,
= 02 marks|
o8
(x) (V) ¢ myood ot <6 ¢ Crolm eecel A Sfe! G ey 90 () 00 (SOFE) 3 1
c-a—o-u-s.—--nuum.l.mme.ﬁnﬂm
“qloﬁl—q‘ﬂ“w-ﬁ-ﬂmd
T.o e emo 0|234567l9
|
sl Nnpopnnoona
® = comy ¥1
ead §
REIED
ot whiie
dispiav couns
eue ndeetosed souits g8 ©, 0 = @ edie ogm BO,R o 8on cuitade.
P =10
[cmel]
[01 mark]
Q-i
[cma 0.5]
[0.5 mark]
R - count
|
[cm&o.Sl{
(ount chowld be co? Yt;_{»’j [O,Smark”
5 nelled |
e [8g cnea 0211
[02 marksl
]

90 - smndnth = esifiedcn
SRS 80 Sedec (OnE 100 ctonla) | eecae. (mmece) Been - 207 1 etany e m
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‘!” am B ecnle®zigd crur ecdened

2.() mm;;@mﬂOmwﬁmqﬁaqqlw-Oﬁ
0ol oom> Boue.

0 conyd Doae sxm o@B80 efids (maiwmn) Seganaas 0o Bl § g8 (replicatss) BO

O B arond ganecn crebe 88 dece dowmo (nbux) e0n. Dode oci0W cwd B0
Uslicind) Sl myond! 88 0

@ Sdicho et mad 8 80xuil o qeoned My Bgds oOloe meo (o) s
i o¢e (pawwond) O er@60 oydl 800

@ «0d 800m ¢ embdas poim odf@ ovd 988 Cw (pop-up) Sedw Bemn souile
oo § 18 O - cuitn DeeiBtnD e10ecw 050 Cu (ySdkyeO sakieow o€ 0 pllec!
8o gt

xglided: (cutas pOde Guldd (sbvws) @ubo mord (Wem), og @ (phisking). 0B
ohelits, (b, cloae 009 (compuer worm), Slago (frewsll))

| = sBoan O5®

2 = podo mene

I D ®

4 — gmdas girom gzIde
[cng01xd;
Teng 04

1 - Computer Worm

2 - Spam

3 - Phishing

4 - Adware
(1 Marks * 4,

= 04 marks)

i (1) dyoed cute ereiowl géupwesd o0 sOoane e ade 0k o Sped
@ VB0 (posese) e SO g 9C B¢ Bo w8 suveds aleld o100
el 8x cuitude.

¢ own agus’ S68: B8 02::

¢ odd gl svcesa/emsiod ebezd(m o)
o edced obemb(mzn®) 1
* Bode

¢ clagnm Ed ovcmeska/ged 0wt god mmnd, qod &)
¢ a6ods aansd 8 / gaand (RSI)

¢ MmOC-edsn cvcEumas

[ene@1.5*2, ‘

=cag 03] I

Any Two of the following : ‘

® Muscular Skelton Syndrome/back pain o \23 VO‘»” /P00¥ Péio (’ Frozen |
|+ NeckPain _f"“’““""

{
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https://www.ict-with-udula-priyankara.online/



https://www.ict-with-udula-priyankara.online/



https://www.ict-with-udula-priyankara.online/



https://www.ict-with-udula-priyankara.online/



https://www.ict-with-udula-priyankara.online/



https://www.ict-with-udula-priyankara.online/



https://www.ict-with-udula-priyankara.online/



https://www.ict-with-udula-priyankara.online/

— R G RTINS T T BT ASY I P S me—

‘i i e coss oomed

Month=> April,
i Acc_No=> 1005,
Units=> 120
ond
wbm D@D,
Month Acc_No Units
April 1005 120
O@d @pdmensi® g¢ ¢ cuciBem apesomd
Sed 50 ¢ cy@ mved

** oo 8200 pmuduessy 8810 9icon! ms ;1880 e g yoms eme
20 : 00D geic 8up® Sovy vewd $8a

lc%g ;
= 02
Customer_Data (table)-> (A B C Navaz, 1005, R) \\
Or \
Customer_Data (table) Q
A B CNavaz, Q
1005,
.. v
OR \/
Customer_Data QO

Name - A B C Navaz,
Acc_No - 1005, ,
Type > R

OR N

Customer/Da \
| N Acc_No Type

A B CNavaz, 1005 R
If the entire table is drawn and relevant record is included the marks are awarded,

[01*2
= 02 Marks]

u-w-mmum@-mpowlmma—-nnwmwuﬂm
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